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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP5 0
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P5_0, Day=32 (2025-05-06)
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SRR ER N (0.51 vs 0.68), AIALH S MRS G EEENKERE

ERINSLPRIERE140.0 ml.
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2it[1638.0 (9%) 1080. 0 3Z3REC: 2427.0, PH: 6.5
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EOREBIRTC R IRAE R Y (182 vs 218.0))

BRIASERRGERE100. 0 ml.
[E];%EC (2465.0 vs 2470) 1RIK




P5_0, Day=30 (2025-05-04)
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P5

WREHRERIRA (1.03) , FRE
EREBUE LR (0.5 vs 1.03), AIREA S MREIENEBEESKERE

BRIASEFRIERE100. 0 ml.

e | GEBRTK (F0) | EBBE (EA/K) | XS IR

07:55 182 100.0 | 1BRi&e07:55 Bah (RALREEE)
08:50 182 100.0 | 1Ri%e08:50 B (RFfREEE)
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12:25 182 100.0 5| 1Ri%e12:25 B (REERE)
13:15 182 100. 0 =] Rige13:15 Bz (REAEREE)
14:15 182 100.0 | Rige14:15 B (GREHRESE)
15:55 182 100.0 5| 1Ri%e15:55 B (REEREE)
2it]1638.0 (9%) 900.0 #ZHKEC: 2413.0, PH: 6.5




P5_0, Day=29 (2025-05-03)
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